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	MATEMATIKA 
	 ZA NOVINARE
	
	

	
	
	Posao je urednika da priča bude tačna. Stoga urednik MORA da proveri sve računice u tekstu. U novinama se često govori o promenama – zarada, javne potrošnje, broja stanovnika — te je od velike važnosti da se zapamti ova matematika na dve strane:


• PROCENTI: 

Ako je neka veličina porasla sa 3.0 na 4.0, je li to povećanje iznosilo 25 odsto?

Kako izračunati procentualni rast (pad):

Promena = novi broj MINUS početni broj PODELJENO SA početnim brojem, pa puta 100.

4.0 - 3.0 = 1.0/3 = 1/3 ili 0.33, to jest 33 odsto.

Drugi primer: Gradski budžet se za godinu dana smanjio  sa 60 na 50 milijardi dinara. Koliki je procentualni pad?

Procentualni pad računamo na sledeći način:

Promena = početni broj MINUS novi broj PODELJENO sa početnim brojem

To jest:

60 - 50 = 10/50 = 16.666 odsto. Uvek zaokružite rezultat, naviše ili naniže, ovde, naravno, naviše, i odgovor je – 17 odsto..


• AVERAGE/MEAN: 

Editors must know the difference between these because they come up frequently in stories, and reporters can confuse them.

Average/Mean: This one is easy enough. It's obtained by adding a group of numbered quantities together and dividing the sum by the number of the quantities. If the rainfall in January for the past five years was 5 inches, 6.5 inches, 4 inches and 6 inches, the average rainfall is calculated this way:
5 + 6.5 + 4 + 6 = 21.5/4 = 5.375 inches.
	
	

	
	

But an average can be thrown off by one unusually high or low number. For example, let's say the last rainfall was 20 inches instead of 6. The average would then be 8.875, which is higher than all of the other rainfall totals. Using the average in this case might give some readers the impression that rainfall is higher in these parts that it really is.

In this case, a different number is more appropriate:


Median: 
This is the middle number in a series containing an odd number of items. 

Ex: 7 in the series 1, 4, 7, 16, 43.

In a series containing an even number of items, the median is the number midway between the two middle numbers.

Ex: 10 in the series 3, 4, 8, 12, 46, 72.

So, in the preceding example, 4, 5 inches, 6.5, 20, the median would be 5.75 inches. (Midway between the two middle numbers, 5 and 6.5.) 

Here's another example: 
Five homes were sold in March in Center City. Two were sold in the poorer section of town for $45,000 and $35,000 respectively. Two were sold in a middle-class neighborhood for $80,000 and for $90,000. The fifth house, in a country club community sold for $250,000. The average selling price was $100,000, although four of the five houses sold for less than that figure. 

The median home price — the middle number in a group of numbers arranged in order of size — is $80,000. 

It more accurately reflects the range of home prices in Center City.
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